Ll LEEMIN

E2HRHRIE

B R

TUBE CLAMPS

(—)#FA INTRODUCTION
1. SeHl
BRZFELNYATFHMRTRINEBMENEF, EF
IMZ & 6~57mm,
WEERFEL N AT MRTRINEBYMENEF, &F
IMZE ¢ 6~42mm,,
ERRIELNBATFIOMRTRINSTHENETF, EF50
12 ¢ 8~406mm,
1. RANGE

Light series clamps can be supplied in 6 series for normal mechanical stress,
Tubeo.d.6to57mm.

Twin tube clamp series can be supplied in 5 series for normal mechanical
stress, Tude 0.d. 6 to 42mm.

Heavy series, clamps can be supplied in 10 series for high mechanical
stress. Tude 0.d. 8to 406mm.

2. #RI4F M MATERIAL PROPERTIES

%M B 5% B % s
Properties Polypropylene(PP) Polyamide 6 (PA6) | A luminium
mE 0.906 g/cm’ 112-115 g/cm’ 265 g/cm’
Density
THRRE 36N/mm’ 130--+200N/mm’ 70N/mm’
Flexural Deflection
SR TR no break R no break
Impact Resistance
E4ERE 90N/mm’ 1920N/mm? HB500-600N/mn’
Compressive Strength
SRR 1500N/mm’ 3000N/mm’ 70.000N/mn
Modulus of Elasticity
NIRRT 25-35N/mm’ 80-90N/mm’ 180N/mm’
Tensile Strength
i i -30--+90°C -40---+120°C 300°C
Temp.Resistance
me %% green 2 black
Colour

RIBE R T FAE EREL Other materials on request

TE4XS ORDER CODE
TXX¥X1—320

S Tube clamp ‘ HE1& Diameter

7% Series R=TZ&%| Clamp Size

LEERIZF Light Series

T:XWEXZ %! Twin Tube Clamp series 44 Mounting model

H:EFYZF Heavy Series
8} Material

P:B2TR % Polypropylene
N:JEH 6 Polyamide 6
A:£2 Aluminium

RZRTE Interior Surface
G:[MHER! Grooved
S:YEEEY Smooth

PR MERIIEREATHRAS, ERERFINSTUm RN,

The order codes for single parts and accessories have a unit system for all series,
which only varies in the series code.

ERZEMIEEIES
RECOMMENDED DISTANCES FOR INSTALLATION OF CLAMP

EFHME(mm) BEFIEE(m)

Tube o.d. Distances of clamps
6-14 0.9
15-22 12
23-28 15
30-38 2
40-48.3 25
50-57 3
60.3-70 34
73-88.9 37
90-108 4
114.3-133 43
140-165.1 5
168.3-220 5.5
219.1-323.9 6.5
356-406 7.5

LTI EELREREEN, MZRUThESENL.
When an elbow or bend to be supported by the clamps, the clamps should be
positioned as close as possible on each side of the bend.



LEEMIN

E20HXIE

5. i

RECFEIREER

RECHT, AEFHFEERNTIE, BIEERELMEFIR
i, ERLEER, REERBNTERS, REREENET.
B ER—FEREMER, ABTER.

DS EERREC T E LA RR.

RKESFHIL

SHTEERME, HABITERE, WEESRIBEENN
W, FHEOE, BTENMEREHRNET, NLBEENET,
BIE EEANEREMER, ARETEE.

BRI

ST RERE, SABTEE, fRETHENERE,
HMEREENET, BREL¥ANERE, BETEE, BEHR
ERGIE TR, RERRE-NEE, TER L.

ASSEMBLY INSTRUCTION

Assembly on to metal welding plates

Weld metal welding plates on to a weight adjusted base.

Clip lower half of clamp on to welding plate and insert tube;

then add second clamp-half and tighten with screws provided.

DO NOT weld with plastic clamp in position!

Assembly on rail-supports

Rail-supports can

be welded of screwed on with a fastening bracket. Insert rail
nutsinto rail and turn as far as it will go.(Ensure that spacing is
right). Wedge on lower clamp-half, insert tube, add second clamp-half
a n d
tighten with screws provided.

Construction assembly

Weld on welding plate or rail support, or screw on with a fixing
bracket. Wedge on lower clamp-half, insert tube, add upper clamp-half
and tighten with fixing screws.(Fixing screw to jut out.)

By applying a locking plate to the upper half of the clamp, the
fixing screw is prevented from twisting. Then mount the second tube

TEEEN, NERESENIRNEHMARPEREE, BilX
R SR RN AEERE

SRR AN R E D BN A ShE H

B _E AR IS 1 (ARIEDIN 3015 5510
EME—NFESE, EEHEIKIRE
EITEHRN, KR A—RIEEER
DIN 2448 9y St37 SN, BEH 23°C,
B HBEE,

B TR LR — AN A
KOO, EXANEFIEBN.

BZAVZ 5| (FRIBDIN 3015 1T

o BRE Jez6
Rt EdE
=z | B eesm e |BeRE | ST0s
GBS782:86 | a5Nm) | JIFKN) | FIEE(Nm) | FIF(KN)
0 8 0.6 10 0.6
1 8 11 10 0.7
2 8 13 10 08
3 M6 8 1.4 10 1.6
4 8 1.5 10 1.7
5 8 19 10 2.0
6 8 2.0 10 25
FERZRFFREBDIN 3015 2885
R~ |EEA gl Je#6 i
251 AR \me | T s Bt | BT R B T
GBS782:86 F14E(Nm)| FIF(KN) | F15B(Nm)| JIF(KN) | F15B(Nm)| FIF(KN)
1 12 16 20 42 30 121
2 M10 12 2.9 20 45 30 15.1
3 15 33 25 51 35 155
4 M12 30 8.2 40 9.3 55 29.4
5 M16 45 11.0 55 210 | 120 | 349
6 M20 80 140 | 15 | 258 | 220 | 500
7 M24 | 110 | 280 | 200 | 320 | 250 | 706
8 180 | 400 | 350 | 480 | 500 | 845
9 M30 500 | 18L5
10 600 | 2445
IEEZ G (2EBDIN 3015 EE3ER4Y)
BHXTH]
Rt B A BA% JEX6
=z | B eesm | e | eexE |STus
GBS/782:86 | JyaENm) | FIF(KN) | JEE(Nm) | FIF(KN)
1 M6 5 0.9 5 0.9
2 12 2.1 12 2.2
3 12 19 12 2.0
M8
4 12 2.7 12 2.9
5 8 1.7 8 2.5




IO
2R

LEEMIN
BHEIE

+ TTPG8-***

iT‘J'%ﬁ% Order code
TTPGL-***

XEK Twin series

@Hﬂ& p.

iTﬁ'ft% Order code
TTPGL6-***
+ TTPG8-***

L

Order code

ERS

TTPG4-***

+ TTPG8-***
+ TL-E*




b &7 ]
5>

2. WELESZ Twin Tube Clamp

LEEMIN

BRRIE

(7= A S EEFRAE DIN3015 Teil3)

1THAKS Order code
TTPG—XEBX R E Sk W FLMAEEY
Twin tube clamp, polypropylene
inside grooved
TTPS— X EB R E K N FLIETE
Twin tube clamp, polypropylene,
inside smooth
TING—XELE R EX A FLIMIEEY
Twin tube clamp, polyamide 6,
inside grooved
TINS—XEL R & Sk A FLIEE
Twin tube clamp, polyamide 6,
inside smooth
(RIEER, FER TR
FoRERS “TTPG” B9

(As required, exchange standard abbreviation

=11

=)

HEy

e
L
Bk

N Elvay::|
fnEtRER

=

2 clamp halves,

weld plate, hex.
head bolt

EES
Bz

& FIEEEIRAR
=, ARNxA

ST NERE S
B3

2 clamp halves,
weld plate, cover
plate,socket head
screw

EES

VAV

BNERESH
EEE (ES
.t

2 clamp halves,
railnut, civer

plate, hex. Head
bolt

ER AN A
SIMERE S
EEE (ES
Bt

2 clamp halves,
railnut, civer plate,
socket head bolt

LA
DUBFHASSARFIE
ERIRS &IN5
—EXEER

2 clamp halves,
locking plate,
stacking bolt

EE ISR
SR
RS &N A —
EERER

2 clamp halves,
cver plate, and
hex. head bolts

“TTPG” in column for '.‘%
“order code” )
RSRF)| M |RTHRE |TIME

clamp size| mm.0.D. | inch LD. [ inch 0.D. THERS THRRS ITRRS THERS THERS THRRS
Order code Order code Order code Order code Order code Order code

6 TTPG1-106 TTPG3-106 TTPG4-106 TTPG5-106 TTPG8-106 TTPG16-106
6.4 TTPG1-106.4 TTPG3-106.4 TTPG4-106.4 TTPG5-106.4 TTPG8-106.4 TTPG16-106.4

1 8 1/4 TTPG1-108 TTPG3-108 TTPG4-108 TTPG5-108 TTPG8-108 TTPG16-108
9.5 5/16 TTPG1-109.5 TTPG3-109.5 TTPG4-109.5 TTPG5-109.5 TTPG8-109.5 TTPG16-109.5

10 G1/8 3/8 TTPG1-110 TTPG3-110 TTPG4-110 TTPG5-110 TTPG8-110 TTPG16-110

12 TTPG1-112 TTPG3-112 TTPG4-112 TTPG5-112 TTPG8-112 TTPG16-112
12.7 1/2 TTPG1-212.7 TTPG3-212.7 TTPG4-212.7 TTPG5-212.7 TTPG8-212.7 TTPG16-212.7
13.5 TTPG1-213.5 TTPG3-213.5 TTPG4-213.5 TTPG5-213.5 TTPG8-213.5 TTPG16-213.5

14 Gl/4 TTPG1-214 TTPG3-214 TTPG4-214 TTPG5-214 TTPG8-214 TTPG16-214

2 15 TTPG1-215 TTPG3-215 TTPG4-215 TTPG5-215 TTPG8-215 TTPG16-215

16 5/8 TTPG1-216 TTPG3-216 TTPG4-216 TTPG5-216 TTPG8-216 TTPG16-216
17.2 G3/8 TTPG1-217.2 TTPG3-217.2 TTPG4-217.2 TTPG5-217.2 TTPG8-217.2 TTPG16-217.2

18 TTPG1-218 TTPG3-218 TTPG4-218 TTPG5-218 TTPG8-218 TTPG16-218

19 3/ TTPG1-319 TTPG3-319 TTPG4-319 TTPG5-319 TTPG8-319 TTPG16-319

20 TTPG1-320 TTPG3-320 TTPG4-320 TTPG5-320 TTPG8-320 TTPG16-320
21.3 TTPG1-321.3 TTPG3-321.3 TTPG4-321.3 TTPG5-321.3 TTPG8-321.3 TTPG16-321.3

3 22 G1/2 TTPG1-322 TTPG3-322 TTPG4-322 TTPG5-322 TTPG8-322 TTPG16-322

23 TTPG1-323 TTPG3-323 TTPG4-323 TTPG5-323 TTPG8-323 TTPG16-323

25 TTPG1-325 TTPG3-325 TTPG4-325 TTPG5-325 TTPG8-325 TTPG16-325
25.4 1 TTPG1-325.4 TTPG3-325.4 TTPG4-325.4 TTPG5-325.4 TTPG8-325.4 TTPG16-325.4
26.9 G3/4 TTPG1-426.9 TTPG3-426.9 TTPG4-426.9 TTPG5-426.9 TTPG8-426.9 TTPG16-426.9

4 28 TTPG1-428 TTPG3-428 TTPG4-428 TTPG5-428 TTPG8-428 TTPG16-428

30 TTPG1-430 TTPG3-430 TTPG4-430 TTPG5-430 TTPG8-430 TTPG16-430

32 Gl TTPG1-532 TTPG3-532 TTPG4-532 TTPG5-532 TTPG8-532 TTPG16-532
33.7 TTPG1-533.7 TTPG3-533.7 TTPG4-533.7 TTPG5-533.7 TTPG8-533.7 TTPG16-533.7

5 35 L TTPG1-535 TTPG3-535 TTPGA4-535 TTPG5-535 TTPG8-535 TTPG16-535

38 TTPG1-538 TTPG3-538 TTPG4-538 TTPG5-538 TTPG8-538 TTPG16-538

40 G4 Lz TTPG1-540 TTPG3-540 TTPG4-540 TTPG5-540 TTPG8-540 TTPG16-540

42 TTPG1-542 TTPG3-542 TTPG4-542 TTPG5-542 TTPG8-542 TTPG16-542

INRERARBOER, FATTROEHBMITE I different combinations are required, they could be ordered as separate components.




E20HXIE

LEEMIN

(=R ETR

FRAE DIN3015 Teil3)

TTHAS Order code

TTPG— MK R E S L UHE R
Twin tube damp, polypropyiene
inside grooved

TTPS— WWEXEERIE R NFLLE
Twin tube camp, polypropylene,
inside smooth

TING— Bt e R E T At MFEE!
Twin tube clamp, polypamide 6,
inside grooved

TINS— BB R ELAILIKB
Twin tube clamp, polypamide 6,
inside smooth

GRIEERIEER TTRRS” RHFRE

45S “TIPG” EB4Y)

(As required, exchange standard abbreviation

“TTPG” in column of “order code” )

. TTPG BUXEX & 3k JREEIRMR ZRIFREEAR
R'TJ'?\@J mﬁrvnl\g.:D BRI | THME 2 clamp halves TTPG Weld plate Multiple weld plate
clamp size ali.a.Z. inch LD. | inch O.D. iTEfke R~ size TEfke R~F size iTEfke =T size
Order code b ¢ d e Order code g m 3§ Order code d e §
6 TTPG-106
6.4 14 TTPG-106.4
8 5/16 TTPG-108
1 95 /8 TTPG-109.5 36 27 20 135 TT-Al 37 M6 3 TT-D1 40 196 3
10 TTPG-110
12 G1/8 TTPG-112
12.7 12 TTPG-212.7
135 G1/4 TTPG-213.5
14 TTPG-214
2 15 TTPG-215 5 26 29 13 TT-A2 5 M8 5 TT-D2 58 288 5
16 5/8 TTPG-216
17.2 G3/8 TTPG-217.2
18 TTPG-218
19 3A TTPG-319
20 TTPG-320
213 G1/2 TTPG-321.3
3 22 TTPG-322 67 37 36 185 TT-A3 70 M8 5 TT-D3 72 358 5
23 TTPG-323
25 TTPG-325
25.4 1 TTPG-325.4
26.9 G3/4 TTPG-426.9
4 28 TTPG-428 82 42 45 2 TT-A4 8 M8 5 TT-D4 90 446 5
30 TTPG-430
32 11/4 TTPG-532
33.7 Gl TTPG-533.7
35 TTPG-535
5 38 » TTPG-538 106 54 56 27 TT-A5 110 M8 5 TT-D5 112 558 5
40 TTPG-540
42 G114 TTPG-542




LEEMIN

*‘ﬂ el
HRRIE
(A= R EF S EEFRRE DIN301S Teil3)
/&‘ ==
<
b
1 N m éi—yt
£7 b N
= T
- = S
a * d
ZESH SHIEE = R
Sl Mounting rail Rail nut Cover plate
Clamp size ITERAS R=F Size iTEie R=F Size ITHRfke R=F Size
Order code h Order code a b C m Order code b d 5
1 TL-F 254 104 12 Mé TT-G1 34 6.6 3
2 TT-G2 51 8.6 3
11
(1K)
TL-E1
3 14 TT-G3 64 8.6 3
TL-E2
(1K)
TT-F 254 104 14 M8
TL-E3
4 30 TT-G4 78 8.6 3
(1K)
5 TT-G5 102 8.6 3




Ll LEEMIN

*‘ﬂ el
E20REI=
(=B TS EEARA DIN30LS Teil3)
9
I /\’
)
‘I 20
SW m .
IS
[ann, - 2 &
N NA
4 | | L{Y
i I | - v
- 1] Tf°
‘ ! o S 00 N
+ ! _L_
d
d Al m 3
NIPSIN N SR \2E
AN FSKIEAR WA FIRET Si:ﬁiun?fﬁlt L(fﬁ(TI:\;T)T)aite
R~T&7 Hexagon head bolt Socket head screw
Clamp size (GB5782-86) (GB70-85) N . - N o -
dxl dxl ITHRRS R size ITHRRS R Size
Order code a b m sw Order code Sw
1 M6 x 35 M6 x 35 TT-HL 20 34 M6 11 TT-L1 11
2 M8 x 35 M8 x 35 TT-H2 20 33 M8 12
3 M8 x 45 M8 x 45 TT-H3 29 44 M8 12
TT-L2 12
4 M8 x 50 M8 x 50 TT-H4 34 49 M8 12
5 M8 x 60 M8 x 60 TT-H5 47 62 M8 12




